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2. For two integers @ and b in the equation given below,

find the value of a + b.
dr—[3y+2(2x—5y)—x)—2y=ax+by
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Ar—13y+2(2x—5y) —x|—2y=ax+by
3. From the integers @,b and c in the equation given below,

find the value of a +b +c.
752y (—5x"y)’ + (%)) =ax"y’
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4. When (3x + y)(z — 2y + 4) is expanded, let a be
the coefficient of ” and let b be the coefficient of Ty .

7527y —{(—52%y )= (

Find the value of @ — b .
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6.1f (—3,b) is the solution of the system of

dr+y =12

find the value of @ + b
z—y=-—3a :

equations

20+ 3y =>
6z +ay =06

7. If the system of equations has an infinite

numbers of solutions, find the value of @ + b.

8. The chart below shows a survey on the numbers of books
read by 50 students during a summer vacation. What is the
percentage of students that has read more than 6 books but

less than 9 books?

No. of Books No. of Students
0-2 14
3-5 15
6-8
9-11 7
12-14 5
Total 50

9. In the figure below, the line ¢ is parallel to the line 2 .

Find the measure of x in degrees.
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10. AB is the diameter of the circle O, and M is the midpoint
of AC .If the length of AC is % of the circumference,

find the measure of ZBDC in degrees.
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11.1f 2.83 xa = b® holds for natural numbers @ and b ,

what is the minimum possible value of a + b ?

12. Choose all correct statements for 3.70 x 10%, then

calculate the sum of all the numbers corresponding to

statements.
(a) Rounded to nearest hundredths. ...................... 1
(b) Rounded to the nearest hundreds. ................... 2
(c) Approximation error is 0.005. .........cccooveverenen. 4
(d) Approximation error is 5. ........ccceevevererererennnnn. 8
(e) All 3 significant figures are 3, 7, 0. ................. 16

13. For the natural numbers a and b given below,

14.

15.

16.

N/
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calculate @ + b.

(a) 4° +4°+4° +4° =2°
®) 9 +9°+9° =3°

22> — 3z + 1 was added, instead of subtracted, from
a polynomial, and the result became 62> + z — 3.
If the calculation was done correctly, the result would
have been ax’ + bz + ¢, calculate a +b + ¢,

where @, b, c are constants.

3z +y

If (3z +2y):(z—2y) =5: 3 then evaluate .
T+ 3y

The sum of digits of a 2-digit number is 12. If the digits
of the number were switched, the result is 12 less than twice

of the initial number. Find the initial number.
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17. The table below shows a survey of the amount of time for

students to commute from home to school. Calculate

100z + y.

Time Relative Cumulative

(min) Frequency Frequency
0—-10 52
10-20 0.34 188
20—30 x
30—40 0.16 340
40— 50 0.11 y
50— 60

Sum 1

18.1f 2> — 4z +1 =0, evaluate x2+$+l+

1
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19. 13 triangles were made by drawing lines connecting

an internal point of a polygon to every vertex of the polygon.

How many diagonal lines are there for this polygon?

20. From the figure below, find the measure of

LA+ /B+4C+ 4D+ ZE+ ZF 4+ £G

in degrees.

21. Let x and Y be 2-digit natural numbers. The fraction =

T
308

can be expressed as a finite decimal, and the fraction i

450

is a repeating decimal with the repeating digit at the

hundredths place, how many possible ordered pairs (z, )

are there?
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(N AB=5cm,BC=6cm,CA=1lcm............. 1
(V) AB=6cm,BC=7cm, ZA=30"............... 2
(M AB=7cm, AC=6cm, ZA=100".............. 4
(@) BC=8cm, £B=85,24C=95........... 8
@ ZLA=100,£B=40°, £C=40"............ 16

A A 9 ~ ] £ A v A = dal =
23. 1elnuan Timﬂmmwmuumiau 400 AU Gl‘l«l“]J‘Iﬂl UALTIUTBY

i 9

v A a A Z A Y Y yAA v A
aaa3 5 % UASUNTYUNUAUNNUVU 5 % %1ﬂ‘1J°V]!La’J DIUUUUNLTIU

9

z 1 A v A a Ld'
AAANTINNUA 2 AU WHINVHUTNFoU DAY

g

2 4 44 v
24. 91NYABRAYAN HIVRIFUMAB e e paInIFUNIEAY
9 o ) . a z <
3 1duIINYABRATY udzIiegIvaemasiveanilugl
= 9 A 3 A Y} A °
amagy JUvvasy 31amasy uaz3inuasy 999U

9y A dy
Lﬁ’uV]LLENH?JGU'BQETJWEHEJLW@EJMH

Y} = I Ay Y a g
25. gﬂﬂﬂﬁmﬂwuigﬂﬁumﬂﬂﬂﬂﬂ v 9 UAUHUDY e LU LagunUn

f Wi Tag 3f = 2e uag 4v = 2e WHIAWOY v+ e + 2f

o Y A 9y A Y 1 dyd ugzl Ao
26. MUIUUY ‘waaﬂﬂammu"lmaawama‘lﬂuumwmmmm

@ —B Feuldlusneions e
150 x z “ “

@) z MosnIMTMINY 100

aiuayulag

nnnnn

ﬁ At I@I 2A7 oqwsn
_?_ ﬁé@ B KEREI @élﬂ%&

22. Choose all the conditions determining only one possible
AABC , then find the sum of the numbers corresponding

to the conditions.

(a AB=5cm,BC=6cm, CA=1lcm.............. 1
(b) AB=6cm,BC=7cm, ZA=30"................ 2
() AB=7cm,AC=6cm, ZA=100".............. 4
(d BC=8cm, £B=85,/C=95 ... 8
() ZA=100°, ZB=40", £LC=40"............. 16

23. A school had 400 students last year. This year, the number
of male students decreased by 5%, and the number of female
students increased by 5%. If the total number of students
this year is 2 less than that of last year? How many female

students are there in this year?

24. Three diagonals were drawn from one vertex of a polygon,
forming a triangle, a pentagon, a heptagon and a nonagon.

What is the total number of diagonals for this polygon?

25. A polyhedron has v vertices, € edges, and [ faces.

If 3f = 2e and 4v = 2e, then evaluate v + e + 2f .

26. There are how many values for x that satisfy the following

two conditions?

63
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can be expressed as a finite decimal.

(b) z is less than or equal to 100.
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27. Bach number from 1 to 44 is written on each side of
22 wooden blocks of the same shape. The sum of numbers
written on both sides is equal for all wooden blocks.
From the figure below, the wooden blocks will be lined up
starting from the one with 42 written on the front, and the
sum of numbers facing each other is always equal.

By doing so, the 8" wooden block cannot be placed

Find the sum of all possible numbers that can be written

on the side facing the pointed arrow of the 7" wooden block.

28. The measure of each interior angle of a regular 7 -gons
is £° . Find the sum of all values of n for which z is

an odd number.

29. Each edge of a dodecahedron is trisected, then each corner
is cut as shown in the figure below. If the new solid figure

has v vertices, e edgesand f faces, what is the value of

v+e+ f?

30. From the figure below, a parallelogram is rotated about
its shorter diagonal producing a solid figure of volume

3 2
am cm’ and of surface area b7 cm’.

Calculate the value of @ + b.

<

i




